1p 32 Which potential problem does Dr Wouters mention in paragraph 37?

A The big tech companies offering facial recognition technology can gain
access to vulnerable youngsters.

B The government cannot safeguard privacy rights when facial
recognition technology is allowed.

¢ The images collected using facial recognition technology can lead to
people drawing faulty conclusions.

D The information gathered through facial recognition technology can be
used for commercial gain.

1p 33 Which of the following fits the gap in paragraph 4?
A After all
B Consequently
C Likewise
D What's more

“the consequences of a poor moment captured by facial recognition can
be ruinous” (alinea 5)

1p 34 In welke zin worden mogelijke nadelige gevolgen genoemd van raar
gedrag dat gefilmd is?
Citeer de eerste twee woorden van deze zin.

1p 35 What does Dr McKay-Brown (paragraph 6) point out about facial
recognition?
A It may well cause a decline in certain pupils’ attendance.
B It should be used to monitor certain pupils more carefully.
C It will encourage certain pupils to misbehave at school.

Tekst 9 Unqualified teachers

1p 36  Which of the following summarises Stanley Greenspoon’s opinion on the

hiring of unqualified teachers for French immersion classes?

A It demonstrates that the quality of the nation’s teacher training
colleges is at stake.

B Itis a waste of public money that harms the prospects of a younger
generation.

C Itis presented as a cheap fix but will have expensive consequences in
the long run.

D It will backfire because the government lacks the money to attract
outsiders to schools.
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1p

1p

3p

37

38

“It might be time to take a hard look at the ‘success’ of French immersion.’
(final sentence of the second letter)

How can this remark be characterised?

A as disinterested

B as lighthearted

C as sarcastic

D as surprised

Geef van de volgende beweringen aan of deze overeenkomen met de

inhoud van de brieven.

Noteer ‘wel’ of ‘niet’ achter elk nummer op het antwoordblad.

1 Eris sprake van fraude bij de lessen Frans in het kader van ‘French
immersion programs’.

2 Canadese bedrijven hebben problemen om personeel te vinden dat
Frans spreekt.

Tekst 10 Four-day working week

39

40

“an improvement in staff productivity” (alinea 1)

In welke zin verderop in de tekst wordt bovenstaand voordeel nog eens
genoemd?

Citeer de eerste twee woorden van deze zin.

Vijf van de onderstaande zes woorden (a tot en met f) zijn weggelaten uit
de tekst (zie 40-1, 40-2, 40-3, 40-4 en 40-5).

Geef bij elke plaats aan welk woord daar hoort.

Noteer de letter van het woord achter elk nummer op het antwoordblad.
Let op: er blijft een woord over.

a no-brainer

a reduction

a study

the bottom

the downside

the model
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Let op: de laatste vragen van dit examen staan op de volgende pagina.
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